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Math 41 Quiz 3 
8:30am — 9:20am Version M 
Fri Apr 27, 2012 

NAME YOU ASKED TO BE CALLED IN CLASS: 

   

SCORE: 	/ 16 NO-CALCULATOR POINTS + 	/ 4 CALCULATOR POINTS 

NO CALCULATORS ALLOWED ON THIS PORTION 
SHOW PROPER WORK & SIMPLIFY ALL ANSWERS 

PUT A BOX AROUND EACH FINAL ANSWER 

Find the domain of h(x) = 4 — 3x . WRITE YOUR FINAL ANSWER IN INTERVAL NOTATION. 	SCORE: 	/ 3 PTS 

Sketch the general shapes and positions of the following graphs. SCORE: 	/ 3 PTS 

   

f ( x) = 1 —3- 
x 

f (x) = x 3  f (x) = x 6  

Find the average rate of change of f (x) = x 3  — 3x from x = —2 to x = 0  . SCORE: 	/ 3 PTS 

   

1 

For f (t) = 1 	find the difference quotient f (t) - f (3)  
• 	 SCORE: 	/ 5 PTS 

2 — t 	 t — 3 

4--(2-t) 	3 - t 

- 	(2-tt--,3) 

Complete the following definition: 

A function f is decreasing on an interval if and only if 

_FOP-- ALL 

SCORE: 	/ 2 PTS 

   


